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Full Marks : 40 Time : 24 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1.  Answer any five questions: 2x5=10
@G stofb ava Tew wie

a) State Zeroth law of thermodynamics with
example.

| TiREPR SisefeRR Wmre el fige 9|
'b) Calculate the pH of 10-*(M) HCI solution.
 10%(M) HCl-47 pH o1 33|

 ¢) State Hessess law of constant heat summation
and explain.
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d)

Write down Kirchhoff’s equation explanning
the meaning of the terms. |
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g)

h)
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" Give example each of an acidic and a basic
buffer. :

WIfEE ¢ FAW AT 90 T3 AT we |

Give two examples of organometallic
compounds.

&1 4199 (qod 4o Twizdd wis |

Which of the following Organic Compounds
response to iodoform test?

B3 @ @ed ey R[Rida s
MA?

CH,0CH,, CH,COCH,, PhCOCH,,
CH,CH(OH)CH,, HCHO, C,H,OH

Identify A and B:
A € B-(F 7IG 37 ¢

o CH,CcoCl Zn(Hg) .
‘ Anhyd.AlCl;"A F}t{:}l ’B
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Answer any two questions: 5%x2=10

- 76 e Tad whe ¢

a) -

b)
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Define Kp, K_and K _and write inter-relations
among them.  1414142=5

K, K, &% K 49 7@ 76 Gk W10 Foe

G TAE TS |

i)  Define solubility and solubility product
of'a sparingly soluble salt. 13+11=3
TS @ TS GIFET TG WS |

ii) What will be the solubility product of
Calcium pl_losphate if its solubility be ‘S’

in water? e 2
T PEARRIN FFH TS S’ A O
TIPS QT FO°?

What is Grignard reagent? How it is prepared?
How will you prepare a 1°, 2° and 3° alcohols
using Grignard reagent?  1+1+(1+1+1)=5
fReTe Revraes 6 2 b1 Rreia age Fac3 2 Aol
e I I@ o e 17, 2° ¢ 3°
SPEACPIRT AES FA? :
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~d)  Identify A, B, C, D, E etc. 1x5=5

iABCDE?WIﬁ‘CﬂS

NaNO, /HCI “ Kk -
1) @ s A A ->B
ii) I S NH: 5D BrleOH E

Answer any two questions: 10x2=20
@~ gf6 evsa Tew s ¢

a) Derive an expression of efficiency of a Carnot -

Engine. "Efficiency can never be 100% or’
0%"— Justify. . 7+3=10

mamwmﬁ afed =9
“FATFS 300% A 0% TS M@ F— Y
39| '

b) . i) = What are the difference between
ionization constant and ionic product of

water? 3
T SRR &R S A TP g
A1 Fte

ii) Deduce van’t Hoff’s reaction isotherm
and isobar. e 4+3
I e R wiREien ¢ wiReRE-

GF AT 2D 7|
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c)

d)
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Write Short notes (any four): 21x4=10

- AR et G (@ @ 5rfe) ¢
i) Obpéﬁauer oxidation
AT GRS
ii) Sandmeyer reaction
Areare Rfg
iii) Friedel-Craft reaction
fErrest-a R
iv)  Cannizzaro reaction
v)  Clemmensen reduction : :
T e
How will convert? (any four) 21x4=10
Rreita #iffees #a? (@ @m orafs) ¢
i) Benzene — Acetophenone
Qe — BB
ii)  Aniline — 2,4,6-tribromo benzene

i - 2,4,65R@G @i
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